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                        The figures in the right-hand margin indicate full marks. 
Candidates are required to give their answers in their own words as far as practicable and  
                              upload answer sheets following University rules 
 
                                 দিϠণ ϕাоѸ সংখҝাვিল ϕেѨর পূণ κমান িনেদκশ কের ৷ 
পরীϠাথλেদর যথাসјব িনেজর ভাষায় উЫর িদেত হেব এবং িবѩিবদҝালেয়র িনয়ম অনুসরণ কের  
                                                 উЫরপϏ আপেলাড করেত হেব ৷ 

 
1. Answer any six of the following questions. Write each answer within 200 words.  6x5=30 

    িনɕিলিখত Łযেকােনা ছয়ǌ Ƽেɳর উȘর Łলখ ৷  Ƽিতǌ উȘর ২০০ শেяর মেধҝ িলখেত হেব ৷ 

a) Why did rationality become a cardinal principle of enlightenment?  
       έকন যুΝЅবাদীতা আেলাকϕািч যুেগর ϕধান নীিত হেয় উেঠিছল? 

b) How was the category called ‘Society’ first discussed by scholars in Europe? 
     কীভােব ‘সমাজ’ নামক িবষয়Μট ইউেরােপর পΝЦতেদর еারা ϕথম আেলািচত হেয়িছল?  

c) How did John Locke argue that common people are not naturally subject to a monarch? 
    জন লক কীভােব যুΝЅ িদেয়িছেলন έয সাধারণ মানষু Ѿাভািবকভােবই একজন রাজার অধীন নয়? 

d) Why did Thomas Hobbes argue in favour of absolute monarchy? 
     টমাস হবস έকন িনর̀শ রাজতেϴর পেϠ যুΝЅ িদেয়িছেলন?  

e) How did Montesquieu’s ideas influence French Revolution? 

    কীভােব মেȬিʅউেয়র ধারণাʦিল ফরািস িবɇব Łক Ƽভািবত কেরিছল? 

f) Why did Saint-Simon stress on the need for an industrial class?  

     Łকন সাঁ-িসেমা একǌ িশɫ ŁǄনীর Ƽেয়াজনীয়তার ওপর Łজার িদেয়িছেলন? 

g) Why did Comte reason about the progress of human mind? 
     έকন έকাতঁ মানেুষর মেনর উтিতর িবষেয় যুΝЅ έদিখেয়িছেলন? 

h) How did Ibn Khaldun link human needs with the nature of man?  
    ইবন খালদুন িকভােব মানুেষর ϕকৃিতর সােথ মানুেষর চািহদােক যুЅ কেরেছন? 

 

 



2. Answer any three of the following questions. Write each answer within 400 words 
3x10=30                

িনɕিলিখত Łযেকােনা িতনǌ  Ƽেɳর উȘর Łলখ ৷  Ƽিতǌ উȘর ৪০০ শেɍর মেধƦ িলখেত হেব ৷ 
a) Examine the impact of empiricism on enlightenment thinking. 

           আেলাকϕািчর িচоাধারার উপর অিভϡতাবােদর ϕভাব পরীϠা কর। 

b) Why was Rousseau’s explanation about the ‘state of nature’ salient for the modern 
society? 

           έকন 'ϕকৃিতর অবѸা' সѕেকκ ჈েশার বҝাখҝা আধুিনক সমােজর জনҝ ვ჈Яপূণ κ িছল? 

c) Examine the impact of industrial revolution on the rise of Sociology. 
             সমাজতেϬর উЬােনর উপর িশџ িবъেবর ϕভাব পরীϠা কর। 

d) How did Comte explain changes in the nature of sciences? 
              έকাতঁ িবϡােনর ϕকৃিতর পিরবতκন কীভােব বҝাখҝা কেরিছেলন? 

e) How did the idea of ‘society’ develop outside Europe? 
            ইউেরােপর বাইের কীভােব 'সমাজ' ধারণাΜট িবকাশ লাভ কেরিছল? 
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